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Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five questions: 1x5=5
- 2A5f5 2 Teg wie ¢

a) Write a word which can be defined only

Ostensively.

GYNIG AT AKGl (el T @ G *7
@14 |

b)  What is symbol?
4SS 2
c) Isthe following statement self-contradictory?

DilCERCIA AN GIRIE?

[Turn over]

d) "No ideas without impressions"— Who said
this?
T BTl g9l 2] 97— (F IR ?

e) What are the different types of sign?
oz F© gt

f)  What is the most significant definition of a
word?
“crs SR SrEiel Aces! e

g) 'Mimi is a beautiful girl'- Is it a synthetic or
analytic proposition?
W aFew W GE— @b RS S12@l
TS o 2

h) Is the sentence 'Saturday is in bed'
meaningful?
e ReEMR e o — At & o

2. Answer any ten questions: 2x10=20

-G W™ 2eF ek wie ¢

a)

b)
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Write any two meanings of the word 'meaning'

with example.
T’ T @ @I 7o L B T2 @14 |

Is there anything which is meaningful, but

not word? Give example.

[2]



g)

h)
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@ hg e [, [ wde)el g = w32 iz
S |

What is called 'word'?
W JF A2
Should we say that a self-contradictory

sentence is meaningless?
G FREIR AT & wLdE g @ A

What is meant by '"Type-token ambiguity'?

‘AR IR FECo [F @RI 2

Give a definition of defining characteristics

with an example.

CUIZIEPTR. GRS (IR K] W€ |

Analyse the meaning of the word 'true' in each

of the following sentences:

Ao ATl e *wba wief [Kesel 39 ¢
1)  She is a true friend.

@1 9FC ey I, |
i1) He is true to his wife.

@1 SIF FF s T |

What is the conditions of Propositional
knowledge?

AT Tt ol & 62
[3] [Turn over]

i)

k)

D
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Which of the following sentences states
defining characteristic and which states

accompanying one?

Aea AT (FHDTS THEPPS W PGS
TS 4ofa B Wz ?

1)  Triangles have three sides.

fqerem foaib e =iz |
i1) Books contain paper.
-9 FlIS |

What are the three laws of thought as laid
down by Aristotle?

[ e

oifseeee @ foals Ber s -ag F2t e
el & e

What is the "Two world theory' of Plato?
AT Taesfes o e

Draw the distinction between a-priori and a

posteriori proposition.

sfverelsd ¢ Sfveel-eoe b /147 =i
4|



3. Answer any five questions: 6x5=30

@-F oo am Teq e ¢

a)

b)

d)
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Explain the different meaning in which 'Know'

1s used.
‘Tera fafeq w1 e 91

Discuss the rule of common usage. Has its

any exception?

apfere eialfRfa® T 591 O3 faba

@ TFoTFw Sz ?

Explain any four criteria for sentence

meaning.

AL A BRG [ewe [ 40|

Can we define 'philosophy'? How does
Russell define 'Philosophy'?

Sl & -3 kel e iif e [ieE wieE
& scesl e 2

Explain the Referential Theory of Meaning.
What are its defects?

Sq e SToqm i 91 92 TSR
Fhul & 52

What is the distinction between Truth and
Validity?

Terel @ (ISR & 2Ny e
[5] [Turn over]

g)

What is Naive Realism? Discuss.

Ty AW e g 91

4. Answer any three questions of the following:

15%x3=45

@-F To=lt areia Teg wie ¢

a)

b)

d)
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What is determinism? Discuss whether

determinism is compatible with freedom.

frgem w=ce & @R fgeRm FiRiws A
el el Sl 34|

What is the problem of universe? Explain
Plato's theory of universal. Does Aristotle

agree with Plato's mind?

AN TRGITG (e alR N ©gt el
9 | SIRPGGE 6 (AT To-a7 12 7EM® (e
P ?

What are the main causes of vagueness of a

word? Explain with examples.

G T P Ay Fdefs fF e
SNIZACE AR 1T F9 |

"Truth is that which works'— critically examine.

Aoy o1 O3 [ FIIFT— ARDET 7T 59 |
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Explain and examine interactionism as a
theory of mind-body relation. What are the

parallelists reaction against this view?

s g [ (wa-afefam seam® e ¢
o1a 99 | 3 oo e s aiERmma afsfan
ISR

What is cause? Discuss 'a priori

interpretation' of causal principle.

Figd e FieR e A7w oFobm
S 9|



